EARAROBREBRT —5 XN—ZXBISH—F 201118128 (&) SEEH4E

3R PEEANX L ‘(fﬁ} W ‘I%EH?’JFE‘?] - | 5 10m =
[AXE%€] 17%&:270,00 3 ~ 2%&:81,00H  3&:41,000H  437%:27,000 " . 53%&:14,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= ~ [EI BB :31. -1-1- . - ISR (B2
1189 |7A77—320=2 3 ES 1(3_1)2 [ : (4_4(3 ®) SRLFASVE
RiIZ/FLw s B:FAT7—I7—2R Hoalt 7—RAT77—LA
=)liE : -3-2- - HRRIGER (S2H)
217l g | ¥FOI72 6 | R 1.(321).6 3-3-2-2 | 41.1 6 (4+430) e A
RiF4—FRAh«4 #:0N-T KBRS
< o NEEES— :31. -4-4- . - REEE— (%)
38|10 YIWN=D—=T ' 56.0 1(13/12)7 M Rt ° (4_838) REE— :
R:V3a—hTF—/ B:IIT1VN—T KIGEBHIS
P — B4 | BASEE 1:31.9 10-9-9-7 [39.3| - 7 | 446 |BEMEER (83
A 3 K 50 (3/4) (-3) |HEEAE
R:ISYFURR 8:R/—ROvS KIFEBHUS
HEBZ :32. -6-6- . - KEFEKR (i)
szl 7| x5U7TIL 4 | BER 1(73%:? 6-6-6-4 | 40.7 4 (4_732) Z\ﬁ%x A
RF—RARNU— BOA=VTTI— =l B2
AAAEIE 132, -5-5- . - POEESER (BEA)
A - BEZZEIS o4 | A (1?39270) 5-5-5-6 | 41.1 3 (4+552) Lz i
RIRT VLY BYILRILHYF e Wb SRE
=~ L4 132, -2-3- . - JIBSLE (%4)
1, RGP 480 N VS e D
R:7ZRIAVL—Y B:T4—=)LYA/\—h BERS
- P : 8-7- - SHES (1)
gl111|¥—*A REFF it 6 | o e 8878 08 8 ‘}2;‘ s )
RiTUA—Y BX—AARIpVF ERT7—L
= BAMES 133, -7-7- . - ISR (%)
oMl 4| 71 vIRIF4 4 280 7 I A A O remmr
R:ZAEILN=T B:SE—FYvUF pabuke
== 4 4 | DOEEFAE 1:33.5 9-10-10-10 | 39.8 | — 9 436 | FPREE— (%)
10/5|5 FET43TI— 56.0 (1172 (-4) (@) J P N#HtH
RiA—Y v YT IN— B:OvIRAN\—h S B&
@ 11— —BERIEI
1d—F— 9,2,8,10,6,7,4,1,5,3
20—7+— 9,2,8,10,6,7,4,1,3,5

30—7F— |9.8,2,10,6,7,(1,4).,3,5
41—73— 9,8,10,7,2,6,3,1,4,5

@ ILRE
& s 9 300 | [ DAR 8-9 910 | | # &= 7-8 530 | | =& 8-9-10 11,940
& B 9 170HM 9-10 B0 | | 5 = 8-9 4,110/ | | 3= 9-8-10 55,440M
8 350M 8-10 2,280 | | B & 9-8 5,220/
10 370F

ABIC OV TRUTEREERRODDZE. THRIIZEL.



